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��� �������� ����
 �������� �
��� �� �������� ����� � ������ !��
���� ���!������"
���!�#���$� %&'()� *���!����� ��$� ��
���" �$������ � ���� ��� �������� �������� ���!�� !��	
������� ����

 +�!����� ��+�� � ���!�� ��!���
�!�� !��$��" � �
!� ����
� ,�� � �+!�
�����
��������- ��+��-�.��� ��
���"� /����� � ��� ����
�
 $�$ �����
 +!�
�������� ����" ��
��-�.�
��!��
��������$.� ������.
 ��������� $���!�" ����� �+����- �����-0�� ����!�� .�!�
����� 
+�!����!��
 ���� �� ��
����-�� ���-� �
���!������ ��!���- 
����-��� ��
��� � ��.�!����1�
��!������ 2�$�� .+!�3����� �+������ � ��������-�� ���-0�" ���+��� +�
 �
�� 
�� ��4�������
��$� 
��1!��� $�$
 ��+!���!
 
��1!���� 5�!�0+!.�1�	6������ %&'�
 7)
 ��� ������� ��
���

.�������3�� ��.�!����� ��!����� ����
� ,�� ������� � ���
 ��� . ��� ��� +�$� +!��� ����!.	
������
 � +���3-� $���!� .
����- �� �������- ��1��������� ��
���" ��.�!����1� ��!����� �
!���-��� !��+!�
������� +�!����!�� �!�
� ��.�!� ����
� ��� 8����� � $������� ��$� ����!.	
������ ����� ����.+��- � �+!�
�������� �1!���������� 1������"�����1��
 �� 
�� .
������ 
����
 ��$�" +�
 �
 �������� ��$!����� / !��.�-���� +!���!$� ������ ��
���" +!���
���� ��
������ ����1!��-�� +�$�������" ���.����� ����
�
 ��� ����� ���
�� �� ��� .����� +� +!���!$�

����-�� ��
���" ��.�!����1� � ��!������ *�����. 
�� ��3�1� ������� �������� ����

  �	
�� �� 
�� +!���� +� ��!.$�.!�
 +������ !��!������- ���!��
 �+�!��3.��� ���-$� �� ��3��
��!��
��������$�� +�!����!� ����
��

/ ������3�" !����� +!�
��1����� !�0���� ���" ��
���� 8������ ����
���� ��3�� .!�������
��������� ����
�
 $�$ ����1�� �����
 �� ������ +!����"0�" ��
��� ���������  ������$�1� �����	
�� ��!���-��" ����
�
 ��!��� ����- ���
. !�
�.��� � �� �!�
��" ���+�!��.!�"� 9���������- ��
.������ 1�
!���������$�1� !��������� � �!�
��� � .!������� ��������� ��3����� ����
�
 ��!�	
���� $!���� !��������� ��!���-��" ����
�� / !��.�-����
 +��.���� �+���� ���������� ���$�
!��������� ����
� �� +���$���� !�
�.�	���+�!��.!�� ����� �������!.���� ��������� +��������
���$� !��������� �� ��$���!� +�!����!�� ��
����

�� ���� ��!��" #�$% ����%�&� '��'�

/���� ��+�$��� ��������� ��!����� ����
 �������� ��
��� ����$���� .�����" .���"�������
����
� � !���������
 $�$ ���-��1� ��4�$�� %&'�)� ��� ���1� !������!�� ����
.
 $�$ ���$�.��"
��!��
��������$�" ��4�$�
 +�
�����3�"�� ��$��. �� !������ ���!1��� 8�1����� +�!���. �����.
��!��
�����$� $��������� ���!1�� dQ � �
����. �!�����
 +���.+��3�" � ����
. ��� . �
�3�"
�� ���
 ������� � ���������� �� +����" ��.�!����" ���!1�� ������0�����:

dQ = dU + pdV.
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� ������
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%���� ��	���
�� �
� ���
������ ��	��� �����
� �����$ ��
�$���
�� � ������� &����	$'

U =
3

2

MAT

µ
(� )*

��� T # ������� 
������
��� �����
�� �����$� � µ # ������� ��	����� ����� �� �����
��� A #
��
�����	���� ������� ���
������� � M # ����� �����$ +
� ���
��,��
� ��	��
�� ����$� �	��#
�
�
�� 
�����$ � �������������	��

 �� �
������ �����

 �����
������ ���� � ���
���

 ��
������� 
������
���� T � ��
��$� �� ��

 ��	��
�� ��	���
�� 
��
�
�������� �	���� 

-�	
 ������ �����

�� � ��������

� 
� ��
 ����
�
�

����
� 
������
�� �� ���
���
� ����#
�
���
 ��
���
� S ��� &����
� ������� 
������
��$ 
 ��.��� (���
���*'

TdS = dQ = T
∂S

∂V
dV + T

∂S

∂T
dT.

+�
���
� ��	"�� ����	�
����
� � �
�� �	���� ���
��,��
��'

∂S

∂V
=

1

T

(
∂U

∂V
+ p

)
,

∂S

∂T
=

1

T

∂U

∂T
.

/���	���� ��	��
� ������$����

 S(T, V ) ��
���
� � 
����
���� � 
�����
���
�� �������
�
�	� ����
�
�

����
� ���������'

∂U

∂V
= −p+ T

∂p

∂T
= T 2 ∂

∂T

( p

T

)
. (� �*

+
� ���
��,��
� �����	��
 �����

� �
� �������
� ���
���
� �
�
��$� ��
 
����
��� ���
�
��#
�

 ��	��� �����

 U �
 T 
 V 
	
� �������
� �����

� U(T, V ) �� 
����
��� &���� p = p(V, T ) 
/� &����	$ (� )* �	����
� �
� ��
��
����$� ������
��� ��	��� �����

 �����$� ��
��$� ��"�

���
��
� �
 ��.��� (
	
 ���
���* ��	��
�� ��	
�
�� �� ������� ��	����� ����$ µ 0�	�����
����� �����
�� � 
����

 ���	��

 �����$ �� ���
 ���
�����
� � ��� 
���������$� �����
� 
�
���� �	����
� �
� 
������
� ��	������ ���
��� �����$ ��
���"�� ����
 � 
������
� �� ���
#
��� 
� ��� �	���
�
�� 
������
��$ 1$�����
� �

� 
������
� 
 ����
 �������� ������� ������
����
$ 

�� ������	
��	�� 
��
�� ��� ������

2	� �$�����
� �����
� 
�����
���
������ �
�
��$ �����$ �$�
�	
� ���
�
���
� p = p(V, T )
�� �������� ��	��� �����

 � ������	�"��

 ��
�������

 ����$ �����$ M  !���
��	�� �$��#
"��
� �	� U (� )* � (� �*� �����
�'

3

2
MA

∂

∂V

1

µ
= T 2 ∂

∂T

p

T
.

3�,�� �
� �������
� �
���

�	��� p� �����
�'

p =
3

2
MAT

T∫
T0

dT

T 2

∂

∂V

1

µ
,

��� T0 = T0(V ) # 
������
���� ��
 ��
���� ���	��
� � ������ �������
�� � ��	� +
� �����
�������
� 
������
� ���
���
� �����$ ��� 
�����
���
������ �
�
��$ 

1���
� � 
��� ������ �����

�� � �
����
�

������ ��������

 �� ���
 �
	 
���
��
� +


�
	$ ������	��
 ��	
�
�� ���	��
� � ������� 2	� �����
 �������� ���	��
� � ������� ��"��
�����	�����
��� ��
�	
"���$� ��	��
�� �
����
�

������� ��������
� � �	������� &���� 456'

p

R
= β

GMρ

R2
. (7 )*



��������	��
���	
 ������ �������� ����	����� ����� ��

���������	
� ������
� β(T, V ) �����
������
 ����������	�� ���� �	�
�� �����
 � ���
��
���
��� �������� ����� ��	������� ������
��� ���	������� �
����� ���

��� ����� ρ = M/V �
V = 4πR3/3 ���������

p = β(T, V )
3GM2

4π

1

R4
.  !��"

#���
����� $
� ���
	�%�	�� � ����	�	�� ���
��	��� 	������ ����& ��'�� ����	�� 
������
����
�����
 � �� �������� � ���	�������

β(T,R)
3GM2

4π

1

R4
=

3

2
AMT

T∫
T0

ζ(T,R)
dT

4πR2T 2
,  !�!"

(��

ζ(T,R) =
∂

∂R

1

µ
.

)�����&������ �����
	�� *������� +�,!- ��� ����	�� �����	�� ����
 �����
�� �����
�

µ =
µH

2X + 0.75Y + 0.5Z
,  !�."

(�� µH / �����	�� ����� ��������� � X,Y, Z / ������
� ���� ��������  X"� (����  Y " � ���(��

�'��
� $����	
��  Z" � ��	�� ���� �����
�� �����
� X + Y + Z = 1� ) $
�� ������ ������	�
ζ(T,R) ��'	� ������
& � �����

ζ(T,R) =
1

µH

∂

∂R

(
2X + 0.75Y + 0.5Z

)

0���� �������� ������	� ζ(T,R) ���������
 ������
& ����	�	�� ���������(� ���
��� ��� ����/
	�	�� ������� �����
� 1��������� ���
�� ��'�
 ��	�
&�� ������
��� 
��������	
� ����2�� �
������� ���� �� ���
 ����	�� �����
�� 	� ������ � ����(�/���� �	�%	�(� ��
��	���� 	��������
�� �
���� �����	�	

 �����	�� ���
��
� 3���& ����
 ������
����
&�� 
��&�� $����2��� ��
����
����'���
�� �
	���
��&	� �����		
� �
(���	��� ��������� �
� ���
��
�
���
 ��	��	�� �
����
$����2�� ����������	
� ����� 
��� 4��	2��

�� ��������� ��	�
��
������

�� 	�� ���������� ����	

	�� �������� �� ��	�
�
 ��	��� ��������� ��	���	�

#�� �	����� ����������	
� ����� 
��� 4��	2� ��'	� ���
�
&� �
� �� �����
�� � ��	��	��
���
��
 �� �������� � (����� 
��� Z � 0 � Y = 1 −X � 0�(�� �
��'�	�� ��� ζ(T,R) �����
 
����
����

ζ(T,R) =
5

4µH

∂X

∂R
.

5�����
��� ������� ��(�� ������	� X ��	��
�� ��	��	� � ����	�	��� ������� �����
�

X = 1− λR,  .��"

� ������
� λ = λ(T ) 	� ������
 �
 �������� 	� ������
 �
 
������
��
 �����
� 3	�� ��	�� ��	�/
���
� �
� � �������	��� ������� �����
 �����	�� �����'�	�� �������� � 	�� �����
� 6
�
 *��

	�����
 ���� ���
���'��	�� � 
����� $����2�� ����� +!�7�8-� 9��

���� �
� �����'�	�� (���� ���/
	� Y = 1−X = λR ����� ��������(�
&� �
� �����'�	�� (���� ������2��	��&	� ������� �����
�
��	�'�		��� 	� 	���
��
� 
������
��	
� ��$**�2��	
� ������	�� �
� ��'	� ������
����
&
(������ ����� ����� ������ �����'�	�� (����� 	�������� ���� Y = λ(T )Rk� � 	���
��
� ����/
��
���� �
���	� k� 5���&	
� ��� 
���� ���������
� 
�����
 ��
��&	�(� ���������	�� ���2�����
�
(���	�� �������� ��� ������	
� ������ ��	��� ��� �	����� ����(� ������	�� ����� �����/
	� ��������
��&	� ������
��
& ���		� 
���� ����
��%�� �����	
 *�	�2��	��&	�� ���������
�
�����'�	�� (���� � ���� �����
�� �����
 �
 �� ������� � ����	�� 
������
��
�

4����� $
�� ����	����	��
�� ��'	� ������
&�

ζ(T,R) = − 5

4µH
λ(T ),



�� ���� �����	
�	

��� λ = −dX/dR = K(T )λ0 > 0� ���	
�� K(T ) 
 ��	������ ������������ ���	
�� ������������
	������ ����� ���������� ������������� 	�����
������ ��������� ��������� � λ0 
 ���������
����������� ������� ����������� ���������� dX/dR� !��������� ��� ������"���� � ���������
#$�$%� ���&���� 	 ���������� ������������ ��������� ����������� ������ � �� ��������'

β
3GM2

4π

1

R4
= −AMT

15

8µH
λ0

T∫
T0

K(T )
dT

4πR2T 2
. #(��%

)�� �������� ��"���� ����� ��������� ������ ����*��� u = K(T )/(R2T 2)� ����� ���������
��������� ��+�� ���������� � ����'

Φ(T )u2 = −Λ
T∫

T0

udT,

��� Φ(T ) = T 2/K2(T ) �

Λ =
5Aλ0

8GMµHβ
.

,��� �������� ������ �������� 	 ����� �������� ����� ����� ������� ����������� ��� ��	���

���� ��	����������� ������� ������ R0'

Λ−1 =
8GMµHβ

5A

1

λ0
.

)�������
���� ����*����� ��������� �� T � ���&���� 	 ����������'

Φ′(T )u2 + 2Φ(T )u
du

dT
= −Λu

���
du

dT
= − Φ′(T )

2Φ(T )
u− Λ

2Φ(T )
. #(�$%

-���� ��"���� ����� ��������� ��+�� �������� � ����'

u =
C1√
Φ(T )

− Λ

2
√
Φ(T )

∫
Φ−1/2(T )dT. #(�(%

!��������� � ��� ������"���� ����������� u� ��&���� ����� ��+�� R � T '

R =

[
2

T

1

(2C1 − Λ
∫
T−1K(T )dT )

]1/2
. #(�.%

�� ������ 	�
���
	������ ����������	
 �����
��� �������


)�� ������� ����*����& ������"��� ����&����� ����� ���	
�� K(T )� � ��	 +� � ��������
λ0� �&������ � ������� ��� ��������� �������� #(�/%� 0	������ ��������� �������� ������� ��
�	������� �����������& ���	
� � ������� 	������ ������������ ��� ������� ����� ������ �
�������� ����������� � �� 
����� ��� ������ ����������� ������ T � !��	���	� �����������
�	������ ������& ���	
� � ������& �� ����������� ���*�� ����������� ���������� ��	������
���������� ����������� K(T ) ��	 +� � ����� ������ ���������� ��	���'

K(T ) =

(
T

T∗

)n

, #.�/%

��� T∗ 
 ��	������ ��	���������� ������������ 	������ ������������ 	�	 	����*��	�� �������

���� �����	���� ���������������� ���
����� 1 ������ "�� ������� ���� �������� �� ����� �
����� ���&����� � ��*	� ������ ��� ����������� �� &���	�������	�� ������� !��������� ���
������"���� � #(�.%� ���&���� 	 ���������� ����+���� ��� ������� ������'

R =
R1√

θ(1 − θn)
, #.��%



��������	��
���	
 ������ �������� ����	����� ����� ��

��� θ = T/Tcr� θ∗ = T∗/Tcr� R
2
1 = 1/(TcrC1) ���	

R2
1 =

2n

ΛTcr
θ
−n/(n+1)
∗ .


�� �
�� �������� � ������� ������ ������������ � θ �����
�� �� �
����� [0, 1]� � ������ n = 0 �
�����������
� ����������
� λ �
 T � � ��!���� ��� R ����
 ������"�� ���# ���	

R =
R1√−θ ln θ , $%��&


�� �
�� ������
� R1 ���������
�� �����'(�� �������	

R1 =
2

TcrΛ
.

)��
��*���� $%��& � $%��& ����� ��� ��
" ���� �� ���
����� ����� �
�������� ������
�� Tcr ������� � 
��� �
� ��� T → Tcr ������ ����� �
����
�� � ����������+

�
�� �
� ��!�� �����
" � ���
������# 
������
���# ������ ��������� ,
� ���
������� ��������

������
�� ���������
�� �� ���
��*����	

Θ(Tcr) = 1.

-������ � �����# ���
� $%��& ��� �'� � ��������� n > 0 ����
 ������� � 
����	

θmin(n) =
Tmin

Tcr
= (n+ 1)

−1/n
.

� ������ n = 0	
θmin(0) = e−1.

.������"��� �������� ������� ����� ��� �
�� ����� �����'(�# ��������	

Rmin(n) =
R1(n+ 1)1/(2n)√

n
, Rmin(0) = R1

√
e.

/����� �������"� # ������ ����� ��!�� ������
����
" � �����
�� ����� �������(��� ���
����������� ������
�� ����
� R1� 0������ ����������"��# ���������
� R(T ) $%��& ��� ������+
� � �������# n �������� �� ����$1&�

2�(�# ������ �������� � ���
��*���# ���
 �����'(�� � ��� � ��+���� �� �� ���� ���
�+
!���� ����'��� ����� ��� ����
����� ���
� �� ������# 
������
�� ������ ����
�� ���
�����
� �������"� � �������� Rmin� ��
�� # ��!�� ������
����
" ��� ��!� # ������
� ��!��#
������
��# ����� � � 
����� �� ����'�������� 
����� .������"��� �������� ������� ��������
����!��
�� � ���
�� n� ��+�
�� �� ������ ����� �
����
�� � �����������
� � ��� T → 0 � �
�
��!�� ������
����
" ��� �������� �� ��!����� ����� �� ���"*��� ������ � �� � �����# 
��+
����
���#� ,
�
 ��(�# ���
 ����'��� ����� ������� $%��& �
��!��
 � �����������
� �
 � ����
n� � 
��
"��� �� �������� ������ �
� ������ ���
����� � �������"� � �������� ������ ������
+
�� � ���
�
���� ���"*�� ��������� 
������
��� ,
� �������
� �
� ������ �
� �������� �������
����� ��!�� �����
" � �� ����!����� �� ���������
��"���
� �������� 0���*������+3�������

��
��� ��� �����
� ������# ����'��� ������ ������(���� �� ������# ���������
��"���
�� ��!+
�� 
���(�# �� ������ � ����
" � �����
�� R1�

�� ������ � 	
��� ���

�����

3�����
��� 
����" �����' ���������� ����� � ��������� �� ����������� � �����# ���
�����
$%��&$$%��&&� 
�� �����# ���������� ����� ������
" �����'� ��������'(�' ������� ������
�
�+
������� ���������� ����� $��1&� 
�����"�� ��� � ���� ��������� ���
����� �������������"� �
�
������ � �������� ���
��
 �� �������� � ������ 
� � 
���� ������� ��������� ���
����� ��(��
��
�� ���*��� ���"�� �
����'
�� �
 ��������� ���
����� �����"���� ����� �� ���#��# ����� ��� ��
����" ������� � ������ � �
�� ������ �����	

p =
ρ

µ
AT =

15MAT

4πµHR3

(
8/5− λ0K(T )R

)
. $4�1&



�� ���� �����	
�	

���� �� ��������� ��	�
�� ����	
 ��� ��������� �� ���	��� ��������
�
 	�� �������
� ��������

��������� n� � � n = 0� � � n = 1� � � n = 2� � � n = 4� � � n = 8� � � n = 16

������	
�� ��� ����
���
�� 	 ������ 
�������

ρ

µ
AT = β

GMρ

R
.

������ ��
������

TR =
4βGMµH

5Aλ0

1

X∗/λ0 −RK(T )
=

1

2Λ

1

8/(5λ0)−RK(T )
.

��� ����
���
�� �� 
� !������!�	��" #�# �!�	
�
�� �
� R� #���!�� $���� ����" �
����%�& 	���

R
(
8/(5λ0)−RK(T )

)
=

1

2ΛTcrθ
.

��!������ ��� �!�	
�
�� 	 �
����%�& '�!���

R
(
R∗ −Rθn

)
= R2

1q0, �(���

)�� 		���
* �
����%�� �$�+
���
���

R∗(n) =
8

5λ0
θn∗ , q0(n) =

1

4n
θ
n(n+2)/(n+1)
∗ .

,!�	
�
�� �(��� ����� �	� #�!
��

R+ =
1

2θn

(
R∗(n) +

√
R2∗(n)− 4R2

1q0(n)θ
n
)
, R− =

1

2θn

(
R∗(n)−

√
R2∗(n)− 4R2

1q0(n)θ
n
)

�$� #�!
� ��
� ���
"
* � ����� '�+����#�& ��*�
 	 �
����� ��
��

R2
∗ ≥ 4R2

1q0θ
n.

- �!���	
�� �
���� ����&��	*� ������
�& !�	
�	���& � +	�+�* 
��� .� !���
#�� ��� �!�����	
�
*
#!�	*� ������
�� � !�	
�	���� +	�+�* 	 '�!�� 
�!��!�	�

*� ����
���
�&�

R+

R1
=

√
q0(n)

2θn

(
Z +

√
Z2 − 4θn

)
,

R−
R1

=

√
q0(n)

2θn

(
Z −

√
Z2 − 4θn

)
.
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	�� n� �� � n = 1� �� n = 2� �� n = 4 ��� ������� q0(n) = 1�
���
���� ����	��
	 ���� 
 ���	��
���� ���
��!"�
 ������	 � �	��
	��� Z � # � Z = 0.25�

$ � Z = 0.5� % � Z = 1.0� & � Z = 1.5� ' � Z = 2

���� �� (	��
	�� )�	�*�� H 
�� n = 2� + � ������ ������	��� ,��� 
 ���	��
��� � ������	 ��
�	��
	���� Z� # � Z = 0.25� $ � Z = 0.5� % � Z = 1.0� & � Z = 1.5� ' � Z = 2
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�
�	
��	���
Z = R∗/(R1

√
q0(n)). �����

�
 ����	�
� ��� ����	�� �
��� ������ �
�	
����� ��
��
��	
 ���
 	
! ��	��!" 
 	��	�� #
��	����
$� %���	�� �
��� �

���������� �
�	& R+" 
 	��	�� # �
�	& R−� '
� ���	
 �� ����	�
�
�
�	
����� $
��� �
���(
���� �
� 	
 ����	�!" �
� � 	
 	��	�! ����� ������ �
�	
������ )
���
���	
" ��
 � �
��
$ �
�
$���
 Z �
��
 �
�	
����� �$�*
���� ��� ����� � ���������
! ��$���
#
����� +�
 �$�*�	�� $
�	
 �
��$
����
�� �
� ��
,��� ����$�*�	�� �
��� �
�	
����� ������ �

���$�	�$ � �
��� ���
�
 
�
�
����
-�� �
(
" ��
�� ��
��$
	�����
�
�� 
�	
������	�! �
�� �
����
	�� (����" 	
 ����	�� ���

��
��
��	� (�
.��� .�	�,�� H = (R(T )/R1)(T/Tcr)" �
�
�
� � �
�
��������� ������	� $
���#
	
(
 �
����
	�� (���� � ������� )
��� ��������	�� ������ 	
 (�
.��� �

��������&� �
����
	�&
$
���	
$� (���� Y = λ0R1H ��� �
��� ���$
��	
$�����
(
 �
�	
����� ������� '����� /"�"�"0"1
����&��� �����$� �
�	
����� ��� �
����	�� �	
��	�! �
�
$���
 Z � n = 2� '���
� 2 ��������
����
! �
��
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" ��
 � �
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$ Z �
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���� �$���� �
�
��
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��� ���
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